
 
3E 2003.4.16 

 
1.  

 
 
  

 
 

 
 

 
 

 
 
2.  

2.1  
( )  

 
(1)  
(2) 

 
(3)  
(4)  
 

 information 
 
 IT: information technology 
 

 
 

2.2  
1

2 1
1 1bit 2

 
bit 0.5 bit

0bit  
 

2 1 1bit
 

 
(1)  

 0 5V 
(2) N S  ( ) 

  
(3)  

  
(4)  

 CD 
 



 
 

2 ( ) 2
?  

 
  
 
  

1  
2  

 
 
 

9  
10  

 
 

 
  10  500  
 1    
 2    
 3    
 4    
 

4 2 2bits
2bits 4 10 500 2

2  
 
 

2bits  = 2�2 
 

 
 

 3bits  8  
 4bits  16  
 5bits  32  

 

?  
 

 
N

bitN

2

2222

=

××××= �

 

 
 

 
 

2.3  
2.3.1  

1 2 1
1bit 2 4



1 2bits  
 

3  8  3bis 
4  16  4bits 
5  32  5bits 

 
1 1bit N

/ N bit 2N  
 

2.3.2 8  
6 8 1 8

( )  
 
[Q] 8 ? 
 
[A] 3bit  

8 8 23=8 3
 

 
[Q] 100 ? 
 
 
[A] 300bit  

3bit 100 300bit  
 
 

 

 
 
[ ] 

(BC 427 347)
5 (4, 6, 8, 12, 20) (BC 580

BC 500 )  

 
 
 

2.3.3  



1kg  
 
( ) 63.141592654   63 kg 

 
 

 
 
   
 5 32 
 6 64 
 7 128 
 8 256 
 

 
7 1kg  
 
[Q] 40 ? 
 
[A] 280bit  

7bit 40 280bit  
 
 

0.5kg

 
 

2.3.4 CD 
CD CD

 
CD  

 
44.1kHz  
16 bits  

 
 
 

1  
 

93 1008.536002101.4416 ×=××××  
 

50  
 

 
 
 8 bits = 1 byte ( ) = 1 B 
 1 kB ( )  =  210byte =  1024 byte 
 1 MB( ) =  210 kB =  220 byte  =  1048576 byte 
 1GB( ) = 210 MB =  230 byte = 107374182 byte 
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